

Converting Celsius and Fahrenheit (B)

Estimate or convert the temperatures.

$69^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$17^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-9^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$3^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-7^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-17^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-92^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$37^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-80^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$79^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-78^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$13^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-53^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-82^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-68^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-57^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$85^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$65^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$8^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$63^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$11^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-37^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-70^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$3^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-98^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-30^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-74^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-14^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-13^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-22^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$